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protected Collection<String> genAlphabet(AlphabetType type,
Collection<String> props) {
List<String> alphabet = new ArraylList<String>(Q);

if (type == AlphabetType.PROPOSITIONAL) {
int max = (int) Math.pow(2, props.size());
for (int j = @; j < max; j++) {
String symbol = "";
int n = j;
for (String prop : props) {
if (n % 2 == 0)

symbol += " " + prop;
else
symbol += " ~" + prop;
n /= 2;
}
protected Collection<String> genAtomicPropositions( alphabet.add(symbol.trim());
int size) { }
List<String> props = new ArraylList<String>(); } else if (type == AlphabetType.CLASSICAL) {
if (type == AlphabetType.PROPOSITIONAL) { alphabet.addAl1(props);
int base = 15; }
for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26)); .
props.add(String.value0f(n)); return alphabet;

}
} else if (type == AlphabetType.CLASSICAL) {
for (int j = 0; j < size; j++) {
String sym = "a" + j;
props.add(sym);

}

return props;
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protected Collection<String> genAtomicPropositi
int size) {
List<String> props = new ArraylList<String>(

if (type == AlphabetType.PROPOSITIONAL) {
int base = 15;
for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26
props.add(String.value0f(n));

} else if (type == AlphabetType.CLASSICAL)
for (int j = @; j < size; j++) {
String sym = "a" + j;
props.add(sym);
}

return props;

protected Collection<String> genAlphabet(AlphabetType type,

Collection<String> props) {
List<String> alphabet = new ArraylList<String>(Q);

if (type == AlphabetType.PROPOSITIONAL) {
int max = (int) Math.pow(2, props.size());
for (int j = @; j < max; j++) {

String symbol = ;
int n = j;

for (String prop : props) {
if (n % 2 == 0)
symbol += " " + prop;
else
symbol += " ~" + prop;
n /= 2;

}
alphabet.add(symbol.trim());

}

} else if (type == AlphabetType.CLASSICAL) {
alphabet.addAl1(props);

}

return alphabet;
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int
int
int
int
for

X = insets.left;
y = insets.top;
w = 0;
h =0;

(Component c : components) {
Dimension d = c.getPreferredSize();

w = Math.max(w, d.width);
h = Math.maxCh, d.height);
d = c.getMinimumSize();

w = Math.max(w, d.width);

h = Math.maxCh, d.height);

(Component ¢ : components) {

Definition upd (x : var) (v : value) (s : t) :=
fun (y : var) => if y == x then v else acc y s.

Definition upd2 x1 vl x2 v2 (s : t) :
upd x2 v2 (Cupd x1 v1 s).

t =

Lemma acc_upd_eq x y v s :

X ==y ->
acc x (upd y v s) = v.
Proof.

rewrite /acc /upd => Hxy.
rewrite Hxy.
reflexivity.

Qed.

Lemma acc_upd_neq x y v s :

X l=y >
acc x (upd y v s) = acc X s.
Proof.

rewrite {1}/acc /upd => Hxy.
rewrite (negPf Hxy).
reflexivity.

Qed.

protec{lemma acc_updZ_eql :

Dimension pref = c.getPreferredSize(); | .
Dimension min = c.getMinimumSizeQ); p foiall ;1y}>v1 22 (s : 9,

; ; . . Lis x l=y2 ->

int width = orient == HORIZONTAL ? pref.width : w; acc x (upd2 y1 viy2 v2 s) = vi.
int height = orient == VERTICAL ? pref.height : h; if |proof.

if (width < min.width)
width = min.width;

if Cheight < min.height)
height = min.height;

c.setBounds(x, y, width, height);

if (orient == HORIZONTAL)

protected Collection<String> genAtomicPropositi
int size) {
PN List<String> props = new ArraylList<String>(
if (type == AlphabetType.PROPOSITIONAL) {
int base = 15;

move=> X yl vl y2 v2 s Hx1 Hx2.
rewrite /upd2 (acc_upd_neq _ _ Hx2) (acc_upd_eq _ _ Hx1).
reflexivity.

opertyAsInteger(O_MAX_RETRY);

betType. fromString(options

PHABET_TYPE));

enerationModel. valueOf(options
NERATION_MODEL));
etPropertyAsInteger(0_PROPOSITION_SIZE);
opertyAsInteger(0_N_SIZE);
opertyAsInteger(0_D_SIZE);
PropertyAsDouble(O_N_TRANSITION_PROBABILITY);
PropertyAsDouble(O_N_SYMBOL_PROBABILITY);
PropertyAsDouble(O_N_TRANSITION_DENSITY);

ble(O_CONNECTING_SYMBOL_PROBABILITY);
PropertyAsDouble(0_D_ACCEPTANCE_PROBABILITY);
PropertyAsDouble(0_D_ACCEPTANCE_DENSITY);

= genAtomicPropositions(type, prop_size);
phabet(type, props).toArray(new String[@]);

int n = j;
for (String prop
if (n % 2 == (¢ /*

aut = new FSA(type, Position.OnTransition);
aut.expandAlphabet(props.toArray(new String[0]));

Generate states. */

symbol += State[] ustates = genStates(aut, usize);
else State[] lstates = genStates(aut, lsize);
for (State s : ustates)
symbol += s.setDescription("N");
n /= 2; for (State s : lstates)

alphabet.add(symbd

s.setDescription("D");

}
} else if (type == AlphabetType.CLASSICAL) {
alphabet.addAl1(props);

}

return alphabet;

for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26
props.add(String.value0f(n));
} else if (type == AlphabetType.CLASSICAL) }
for (int j = 0; j < size; j++) { }
String sym = "a" + j;

props.add(sym);
}

return props;
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int
int
int
int
for

X = insets.left;
y = insets.top;
w = 0;
h =0;

(Component c : components) {
Dimension d = c.getPreferredSize();
w = Math.max(w, d.width);

h = Math.maxCh, d.height);
d = c.getMinimumSize();
w = Math.max(w, d.width);

h = Math.maxCh, d.height);

(Component ¢ : components) {

Definition upd (x : var) (v : value) (s : t) :=
fun (y : var) => if y == x then v else acc y s.

Definition upd2 x1 vl x2 v2 (s : t) :
upd x2 v2 (Cupd x1 v1 s).

t =

Lemma acc_upd_eq x y v s :

X ==y ->
acc x (upd y v s) = v.
Proof.

rewrite /acc /upd => Hxy.
rewrite Hxy.
reflexivity.

Qed.

Lemma acc_upd_neq x y v s :
X l=y >
acc x (upd y v s) = acc X s.
Proof.
rewrite {1}/acc /upd => Hxy.
rewrite (negPf Hxy).
reflexivity.
Qed.

Dimension pref = c.getPreferredSize();
Dimension min = c.getMinimumSize(); p

int width = orient == HORIZONTAL ? pref.width : w;
int height = orient == VERTICAL ? pref.height : h;

if (width < min.width)
width = min.width;

if Cheight < min.height)
height = min.height;

c.setBounds(x, y, width, height);

if (orient == HORIZONTAL)

protected Collection<String> genAtomicPropositi
int size) {
PN List<String> props = new ArraylList<String>(

if (type == AlphabetType.PROPOSITIONAL) {
int base = 15;
for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26
props.add(String.value0f(n));

protec{lemma acc_updZ_eql :

b type
forall x y1l vl y2 v2 (s : t), ’

. X =yl ->
Lis X l=y2 ->
acc x (upd2 yl1 vl y2 v2 s) = v1.
if |Proof.

move=> X yl vl y2 v2 s Hx1 Hx2.
rewrite /upd2 (acc_upd_neq _ _ Hx2) (acc_upd_eq _ _ Hx1).
reflexivity.

int n = j;
for (String prop
if (n % 2 == 0)

props) {

"non

symbol += + prop;
else

symbol += " ~" + prop;
n /= 2;

alphabet.add(symbol.trim());

}
} else if (type == AlphabetType.CLASSICAL) {
alphabet.addAl1(props);

}

return alphabet;

}
} else if (type == AlphabetType.CLASSICAL)
for (int j = 0; j < size; j++) { }
String sym = "a" + j;

props.add(sym);
}

return props;
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Definition upd (x : var) (v : value) (s : t) :=
fun Cy : var) => if y == x then v else acc y s.

De
Definition upd2 x1 vl x2 v2 (s : t) : t := L
De upd x2 v2 (upd x1 v1 s). trace "INPUT GB:";
unix ("cat " A inputfgb A " >> " A gbdir A "/log_gb");
int x = insets.left; int x = insets.left; *tmce""i"*
int y = insets.top; int y = insets.top; %etm”:mgma )
let t1 = Unix.gettimeofday() in
int w = 0; int w = 0;
int h = 0; int h = 0; protected Collection<String> genAlphabet(AlphabetType type,
for (Component c : components) { for (Component c¢ : components) { Collection<String> props) { peonds”™)
Dimension d = c.getPreferredSize(); Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); w = Math Protecte
. . _ L a
h = Math.maxCh, d.height); h= Collection<Strings props) { LphabetType. PROPOSITIONAL) {
d = c.getMinimumSize(Q); d List<String> alphabet = new ArraylList<String>(Q); .(m;? Iv.lath.po».v(Z., props.size());
w = Math.max(w, d.width); . )= ; % < max; i+ o
X h = Math.maxCh, d.height); X if (type == AlphabetType.PROPOSITIONAL) { 9 S?T ot =
int max = (int) Math.pow(2, props.size()); =D
for (int j = @; j < max; j++) { String prop : props) {
for (Component c : componented J for . bol Wi, f(n%2==0)
Dimension pref fint x = insets.left; String symbol = ’ _non
r L L . .. symbol + + prop;
Dimension min =fint y = insets.top; int n = jj; 1se
for (String prop : props) { W w .
int width = oriflint w = 0; if(n%2==0 symbol += " ~" + prop; \n
int height = orfint h = 0; symbol += " " + prop; .
for (Component c : components) { else
if (width < min Dimension d = c.getPreferred symbol += " ~" + prop:
width = min w = Math.max(w, d.width); y_ - prop;
if (height < mi h = Math.maxCh, d.height); n/=2;
height = mi ¥ . components) {
d = c.getMinimumSizeQ); alphabet.add(symbol.trim()); - getPreferredsize():
c.setBounds(x, w = Math.max(w, d.width); } 'g width; ’
‘ . h = Math.max(h, d.height; } else if (type == AlphabetType.CLASSICAL) { . d.height);
orient o} alphabet.addAl1(props);

| if Corient =1 1 mSize();

- - for (Component c : components) { ) .
| if (orient Dimension pref = c.getPrefer ’ 3':;?t:25,
Dimension min = c.getMinimum return alphabet; » d.hetghel;
int width = orient == HORIZO } ! components) {
int height = orient == VERTI 3} Pref = c.getPreferredSize();
if (width < min.width) } I 1 min = c.getMinimumSize(Q);
e (:2?;:t=<m;?éw;:$2ét) ’ int width = orient == HORIZONTAL ? pref.width : w;
. i i = ori == ? i : h;
height = min.height; Lturn alphabet; int height = orient VERTICAL ? pref.height : h; :
) ) if (width < min.width o &
c.setBounds(x, y, width, height); (width _ min.width? h;
if (orient == HORIZONTAL) i (:zlg:t f :12'::13::?
if (orient == HORIZONTAL) ’
| if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
) ¥ if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
t ; - -
g ourn props Proo if (orient == HORIZONTAL)
move= T X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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Definition upd (x : var) (v : value) (s : t) :=
fun Cy : var) => if y == x then v else acc y s.

De
Definition upd2 x1 vl x2 v2 (s : t) : t := L
De upd x2 v2 Cupd x1 v1 s). trace "INPUT GB:";
unix ("cat " A inputfgb A " >> " A gbdir A "/log_gb");
int x = insets.left; int x = insets.left; *tmce""i"*
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int w = 0; int w = 0;
int h = 0; int h = 0; protected Collection<String> genAlphabet(AlphabetType type,
for (Component c : components) { for (Component c¢ : components) { Collection<String> props) { peonds”™)
Dimension d = c.getPreferredSize(); Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); w = Math Protected Co
h = Math.max(h, d.helght); h = Moga Collection<5tr‘ing> props) { 1phabetType.PROPOSITIONAL) {
d = c.getMinimumSize(Q); List<String> alphabet = new ArraylList<String>Q); .(m;? Math.po;:/(z., props.size());
W = Math.max(w, d.width); J =05 j <max; j++) {
b — Math may(h A hoight): il ATl il ol T DDADACTTTIAMAIN € g symbol = 3

won

int height = orfint h = 0; symbol += + prop;
for (Component c : components) { else
if (width < min Dimension d = c.getPreferred symbol += " ~" + prop:
width = min w = Math.max(w, d.width); 4 prop;
if Cheight < mi h = Math.maxCh, d.height); n/=2;
height = mi . . ¥ . . components) {

d = c.getMinimumSize(Q); alphabet.add(symbol.trim()); . getPreferredsize();
c.setBounds(x, w = Math.max(w, d.width); 3} 4 width; ’
‘ . h = Math.max(h, d.height); } else if (type == AlphabetType.CLASSICAL) { . d.height);
if Corient —— Hj} alphabet.addAl1l(props);

if (orient =s . .

I F - for (Component c : components) { } mzliigzﬁ)-
[____lf_SEElEEE Dimension pref = c.getPrefer , d.heightS'
’ . ’

Dimension min = c.getMinimum return alphabet;

int width = orient == HORIZO
. components) {

int height = orient == VERTI } ref = c.getPreferredSize();
if (width < min.width) } I 1 min = c.getMinimumSize(Q);
e (:2?;:t=<m;?éw;:$2ét) ’ int width = orient == HORIZONTAL ? pref.width : w;
: i i = ori == ? i : h;
height = min.height; Lturn alphabet; int height = orient VERTICAL ? pref.height : h; :

) . if (width < min.width &
c.setBounds(x, y, width, height); (width _ min.width? hs
if Corient == HORIZONTAL) if (Ez{g:t < :1:'::;3::?

if (orient == HORIZONTAL) ’
| if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
. if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
t ; - -
g ourn props Proo if (orient == HORIZONTAL)
mMoVe= T X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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Definition upd (x : var) (v : value) (s : t) :=
fun (y : var) => if y == x then v else acc y s.

De
Definition upd2 x1 vl x2 v2 (s : t) : t := L
De upd x2 v2 Cupd x1 v1 s). trace "INPUT GB:";
unix ("cat " A inputfgb A " >> " A gbdir A "/log_gb")
int x = insets.left; int x = insets.left; *U“CG""i"*
int y = insets.top; int y = insets.top; %etm”:mgma )
1eE t1l = Unix.gettimeofday() in
int w = 0; int w = 0;
int h = 0; int h = 0; protected Collection<String> genAlphabet(AlphabetType type,
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Dimension d = c.getPreferredSize(); Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); w = Math Protecte .
. . _ L a
h = Math.maxCh, d.height); h = Mg Collection<Strings props) { LphabetType. PROPOSITIONAL) {
d = c.getMinimumSize(Q); List<String> alphabet = new ArrayList<String>(); _(1”;? M“th-Pov(?’ props.size());
w = Math.max(w, d.width); 3 =0; j <max; j++) {
b — Math may(h A hoight): il ATl il ol T DDADACTTTIAMAIN € g symbol = 3
l|I: .|I: ll ] l |\ .I
int height = orfint h = 0;

components) {
c.getPreferredSize();
, d.width);

, d.height);

c.setBounds(x, Mathj
Math

for (Compone

if (width < min Dimensio]

width = min w = Mathj

if (height < mi h = Math
height = mi

d = c.ge

w
h

if (orient == Hf{}

ULPTUDEC. UUURL L PTOPS ),

if (orient =3 . .

I F - for (Component c¢ : components) { } mzlisgzﬂ)-
[____lf_Sgﬁlsﬂj Dimension pref = c.getPrefer » e htS'
Dimension min = c.getMinimum return alphabet; » d.height);

int width = orient == HORIZO }

int height = orient == VERTI } : components) {

ef = c.getPreferredSize();
1 min = c.getMinimumSize(Q);

if (width < min.width) } [
e (:;?;:t=<m;?6?;::2;t) ’ int width = orient == HORIZONTAL ? pref.width : w;
height = min.height; Lturn alphabet; int height = orient == VERTICAL ? pref.height : h; ;
if (width < min.width) B

c.setBounds(x, y, width, height);

width = min.width; 15
if Cheight < min.height)

if (orient == HORIZONTAL) height = min.height;
if (orient == HORIZONTAL) ’
| if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
) ¥ if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
t H - -
g ourn props Proo if (orient == HORIZONTAL)
move= T X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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protected Collection<String> genAtomicPropositi
int size) {
List<String> props = new ArraylList<String>(

if (type == AlphabetType.PROPOSITIONAL) {
int base = 15;
for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26
props.add(String.value0f(n));

} else if (type == AlphabetType.CLASSICAL)
for (int j = @; j < size; j++) {

String sym = "a" + j;

props.add(sym);
}

return props;

protected Collection<String> d
Collection<String> prd
List<String> alphabet = ng

if (type == AlphabetType. A
int max = (int) Math.q
for (int j = @; j < mg

String symbol = "'
int n = j;
for (String prop
if (n % 2 ==
symbol +=
else
symbol +=
n /= 2;

alphabet.add(symbd

int retry = options.getPropertyAsInteger(O_MAX_RETRY);

AlphabetType type = AlphabetType. fromString(options
.getProperty(O_ALPHABET_TYPE));

GenerationModel model = GenerationModel.valueOf(options
.getProperty(O_GENERATION_MODEL));

int prop_size = options.getPropertyAsInteger(0_PROPOSITION_SIZE);

int usize = options.getPropertyAsInteger(0_N_SIZE);

int lsize = options.getPropertyAsInteger(0_D_SIZE);

double N_pt = options.getPropertyAsDouble(O_N_TRANSITION_PROBABILITY);

double N_ps = options.getPropertyAsDouble(O_N_SYMBOL_PROBABILITY);

double N_dt = options.getPropertyAsDouble(O_N_TRANSITION_DENSITY);

double conn_ps = options

.getPropertyAsDouble(0_CONNECTING_SYMBOL_PROBABILITY);
D_pa = options.getPropertyAsDouble(0_D_ACCEPTANCE_PROBABILITY);
D_da = options.getPropertyAsDouble(0_D_ACCEPTANCE_DENSITY);

double
double

Collection<String> props =
String[] alphabet =

genAtomicPropositions(type, prop_size);
genAlphabet(type, props).toArray(new String[@]);

FSA aut = null;

boolean done = false;

while (!done) {
aut = new FSA(type, Position.OnTransition);
aut.expandAlphabet(props.toArray(new String[0]));

/* Generate states. */

State[] ustates = genStates(aut, usize);

State[] lstates = genStates(aut, lsize);

for (State s : ustates)
s.setDescription("N");

for (State s : lstates)
s.setDescription("D");

}

} else if (type == AlphabetType.CLASSICAL) {

alphabet.addAl1(props);
}

return alphabet;
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Project Backup

protected Collection<String> genAtomicPropositi
int size) {
List<String> props = new ArraylList<String>(

if (type == AlphabetType.PROPOSITIONAL) {
int base = 15;
for (int j = 0; j < size; j++) {
char n = (char) ('a' + (base++ % 26
props.add(String.value0f(n));

} else if (type == AlphabetType.CLASSICAL)
for (int j = @; j < size; j++) {

String sym = "a" + j;

props.add(sym);
}

return props;

protected Collection<String> d
Collection<String> prd
List<String> alphabet = ng

if (type == AlphabetType. A
int max = (int) Math.q
for (int j = @; j < mg

String symbol = "'
int n = j;
for (String prop
if (n % 2 ==
symbol +=
else
symbol +=
n /= 2;

alphabet.add(symbd

int retry = options.getPropertyAsInteger(O_MAX_RETRY);

AlphabetType type = AlphabetType. fromString(options
.getProperty(O_ALPHABET_TYPE));

GenerationModel model = GenerationModel.valueOf(options
.getProperty(O_GENERATION_MODEL));

int prop_size = options.getPropertyAsInteger(0_PROPOSITION_SIZE);

int usize = options.getPropertyAsInteger(0_N_SIZE);

int lsize = options.getPropertyAsInteger(0_D_SIZE);

double N_pt = options.getPropertyAsDouble(O_N_TRANSITION_PROBABILITY);

double N_ps = options.getPropertyAsDouble(O_N_SYMBOL_PROBABILITY);

double N_dt = options.getPropertyAsDouble(O_N_TRANSITION_DENSITY);

double conn_ps = options
.getPropertyAsDouble(0_CONNECTING_SYMBOL_PROBABILITY);

double D_pa = options.getPropertyAsDouble(0_D_ACCEPTANCE_PROBABILITY);

double D_da = options.getPropertyAsDouble(0_D_ACCEPTANCE_DENSITY);

Collection<String> props = genAtomicPropositions(type, prop_size);
String[] alphabet = genAlphabet(type, props).toArray(new String[@]);

FSA aut = null;

boolean done = false;

while (!done) {
aut = new FSA(type, Position.OnTransition);
aut.expandAlphabet(props.toArray(new String[0]));

/* Generate states. */

State[] ustates = genStates(aut, usize);

State[] lstates = genStates(aut, lsize);

for (State s : ustates)
s.setDescription("N");

for (State s : lstates)
s.setDescription("D");

}

} else if (type == AlphabetType.CLASSICAL) {

alphabet.addAl1(props);
}

return alphabet;
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Definition upd (x : var) (v : value) (s : t) :=

De fun (y : var) => if y == x then v else acc y s.
Definition upd2 x1 vl x2 v2 (s : t) : t := i —— I
De upd x2 v2 (upd x1 v1 s). trace "INPUT GB:";

unix ("cat " A inputfgb A " >>

int x = insets.left; int x = insets.left; *tmce""in*
int y = insets.top; int y = insets.top; %etm”:mgma )
1eE t1l = Unix.gettimeofday() in
int w = 0; int w = 0;
int h = 0; int h = 0; protected Collection<String> genAlphabet(AlphabetType type,
for (Component c : components) { for (Component c : components) { Collection<String> props) {

for

Dimension d = c.getPreferredSize();
w = Math.max(w, d.width); w = Math
h = Math.maxCh, d.height); h = -

d

w
h

(Component c :
Dimension pref
Dimension min =

int width = ori
int height = or

if (width < min
width = min
if Cheight < mi
height = mi

c.setBounds(x,

c.getMinimumSize(Q); d
Math.max(w, d.width);
Math.maxCh, d.height); P

wents) {

int
int
int
int
for

if (orient == Hf{}

if (orient =3

| if (orient

for

X = insets.left;
y insets.top;

w=0;

h =0;

(Component c : components) {
Dimension d = c.getPreferred
w = Math.max(w, d.width);

h = Math.maxCh, d.height);

d = c.getMinimumSize(Q);
w = Math.max(w, d.width);
h = Math.maxCh, d.height);

(Component c : components) {
Dimension pref = c.getPrefer
Dimension min = c.getMinimum

int width = orient == HORIZO }

Dimension d = c.getPreferredSize();

List<String> alphabet =

protected
Collection<String> props) {
List<String> alphabet = new ArraylList<String>(Q);

lphabetType.PROPOSITIONAL) {

j =0; j < max; j++) {

if (type == AlphabetType.PROPOSITIONAL) { g symbol = "";

' = (i i . =33
int max —.(1nt? Math.pov(;, props.size()); String prop
for (int j = 0; j < max; j++) { ° g ;
String symbol = ""; (n == 0)
i B symbol +=
int n = 3J; .
for (String prop se
if (n% 2 == 0)

props) {

+ prop;

props) {

symbol += " ~" + prop;

" A gbdir A "/log_gb");

new ArrayList<String>Q);

(int) Math.pow(2, props.size());

symbol += " "
else

symbol += " ~"
n /= 2;

+ prop;
+ prop,

}

alphabet.add(symbol.trim()); components) {

c.getPreferredSize();
, d.width);
, d.height);

}
} else if (type == AlphabetType.CLASSICAL) {
alphabet.addAl1(props);
} mSize();
, d.width);

return alphabet; , d.height);

. components) {

int height = orient == VERTI }

pref = c.getPreferredSize();

if (width < min.width) }

1 min = c.getMinimumSize(Q);

width = min.width;
if Cheight < min.height)

height = min.height;
c.setBounds(x, y, width, height);

if (orient == HORIZONTAL)

eturn alphabet;

if (width < min.width)
width = min.width;

if Cheight < min.height)
height = min.height;

if (orient == HORIZONTAL)

[ if Corient == HORIZONTAL)

c.setBounds(x, y, width, height);

}
}

return props;

if (orient == HORIZONTAL)

int width = orient == HORIZONTAL ? pref.width :
int height = orient == VERTICAL ? pref.height :

w;
h;

| if (orient == HORIZONTAL)

pconds");

Proo if (orient == HORIZONTAL)
mMoVe= T X.
rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.

Ded.

\n"
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“ITWhat has been done in a version?:-

let t1 = Unix.gettimeofday() in
int w = 0; int w = 0;
int h = 0; int h = 0; protected Collection<String> genAlphabet(AlphabetType type,
201 7/08/05 for (Component c : components) { for (Component c¢ : components) { Collection<String> props) { peonds™;
Dimension d = c.getPreferredSize(); Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); w = Math Protecte
. . _ obk a
h = Math.maxCh, d.height); h=M Collection<Strings props) { LphabetType. PROPOSITIONAL) {
d = c.getMinimumSize(Q); d List<String> alphabet = new ArraylList<String>(Q); .(m;? N.Iath.po».v(Z., props.size());
w = Math.max(w, d.width); )= ; % < max; i+ o
} h = Math.maxCh, d.height); X P if (type == AlphabetType.PROPOSITIONAL) { 9 S?T o =
int max = (int) Math.pow(2, props.size()); =J .
201 7/08/1 3 for (int j = 0; j < max; j++) { String prop : props) {
for (Component c : componented J for . bol Wi, f(n%2==0)
‘ Dimension pref §int x = insets.left; .St”ng symbol = 75 symbol += " " + prop;
— Dimension min =fint y = insets.top; int n = 7j; 1se ’
for (String prop : props) { W w .
int width = oriflint w = 0; if(n%2==0 symbol += " ~" + prop; \n
int height = orfint h = 0; symbol += " " + prop; .
for (Component c : components) { else
if (width < min Dimension d = c.getPreferred symbol += " ~" rop:
width = min W = Math.max(w, d.width); y_ += + prop;
if (height < mi h = Math.maxCh, d.height); n/=2;
height = mi } . components) {
d = c.getMinimumSizeQ); alphabet.add(symbol.trim()); " eEPrefer‘r‘edSize()-
c.setBounds(x, w = Math.max(w, d.width); } 'g width; ’
. . h = Math.max(h, d.height); } else if (type == AlphabetType.CLASSICAL) { . d.height);
if Corient — HE} alphabet.addAl1l(props);
o ot o . .
I - Forlen. for (Component c : components) { } mzlisgzé)_
| if Corient Dimension pref = c.getPrefer > 2

Dimension min = c.getMinimum return alphabet; » d.height);

int width = orient == HORIZO

int height = orient == VERTI : components) {

} Pref = c.getPreferredSize();
if (w?dth < m?n.w?dth) } I 1 min = c.getMinimumSize(Q);
e (:;?;:t=<m;?6?;::2ét) ’ int width = orient == HORIZONTAL ? pref.width : w;
height = min.height; Lturn alphabet; int height = orient == VERTICAL ? pref.height : h; :
c.setBounds(x, y, width, height); if (xiji: < :1::x23::2 ' f:

if Cheight < min.height)
height = min.height;

if (orient == HORIZONTAL)
if (orient == HORIZONTAL)

[ if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
) ¥ if Corient == HORIZONTAL)
| if (orient == HORIZONTAL)
t H . .
g ourn props Proo if (orient == HORIZONTAL)
move= S X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).

reflexivity.

Ded.
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Ly

“"What has be

2017/08/05

2017/08/13

Ly

2017/08/27

Ly

int
int
for

for

w=0;
h 0;
(Component c :

w
h

mon

d

w
h

(Component c
Dimension pref
Dimension min =

int width = ori
int height = or

if (width < min
width = min
if Cheight < mi
height = mi

c.setBounds(x,

components) {
Dimension d = c.getPreferredSize();
Math.max(w, d.width);
Math.maxCh, d.height);

c.getMinimumSize(Q);

Math.max(w, d.width);
Math.max(Ch, d.height);

: couponents) £ for

int
int
int
int
for

if (orient == Hf{}

if (orient =3

| if (orient

for

Py

=5

in a version?

gb");

rops) {

o9

X
y

insets.left;
insets.top;

o

w=0;
h =0;
(Component c : components) {
Dimension d = c.getPreferred

w = Math.max(w, d.width);
h = Math.maxCh, d.height);
d = c.getMinimumSize(Q);

w = Math.max(w, d.width);
h = Math.maxCh, d.height);

(Component c : components) {
Dimension pref = c.getPrefer
Dimension min = c.getMinimum

int width = orient == HORIZO
int height = orient == VERTI

if (type == AlphabetType.PROPOSITIONAL) {

int max = (int) Math.pow(2, props.size());

for (int j = @; j < max; j++) {
String symbol = "";
int n = j;
for (String prop :
if (n % 2 == 0)

props) {

symbol += " " + prop;
else

symbol += " ~" + prop;
n /= 2;

}
alphabet.add(symbol.trim());

}

} else if (type == AlphabetType.CLASSICAL) {

alphabet.addAl1(props);
3

return alphabet;

protected Co

genAlphabet(AlphabetType type,

new ArraylList<String>Q);

let t1 = Unix.gettimeofday() in

Collection<String> props) {

ection<String> genAlphabet(AlphabetType type,

List<String> alphabet = new ArraylList<String>(Q);

lphabetType.PROPOSITIONAL) {

j=0; j <max; j++) {
g symbol = "";
= 33

String prop :
f(n%2==0)

props) {

(int) Math.pow(2, props.size());

if (width < min.width) }

width = min.width;
if Cheight < min.height)

height = min.height;
c.setBounds(x, y, width, height);

if (orient == HORIZONTAL)

eturn alphabet;

if (orient == HORIZONTAL)

[ if Corient == HORIZONTAL)

}
}

return props;

symbol += " " + prop;
lse
symbol += " ~" + prop;
.
components) {
c.getPreferredSize();
, d.width);
, d.height);
mSize();
, d.width);
, d.height);
: components) {
pref = c.getPreferredSize();
I 1 min = c.getMinimumSize(Q);
int width = orient == HORIZONTAL ? pref.width : w;
int height = orient == VERTICAL ? pref.height : h; }.
if (width < min.width) o &
width = min.width; '3
if Cheight < min.height)
height = min.height;
c.setBounds(x, y, width, height);
if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)

Proo if (orient == HORIZONTAL)

MovVe= T X.

rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.

Ded.

pconds");

I\n"
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let t1 = Unix.gettimeofday() in
int W= 0; J
1:t : - 0; 1 protected Collection<String> genAlphabet(AlphabetType type,
201 7/08/05 for (Component c : components) { 1 Collection<String> props) { peonds™;
Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); — ATIIC TR
. D D
h = Math.maxCh, d.height); rgps) ? P YP€ TYPEs M) phabetType. PROPOSITIONAL) {
d = c.getMinimumSize(); new Arraylist<String>(); _(1n;? Math-poy(Z_, props.size());
w = Math.max(w, d.width); )= ; % < max; i+ o
} h = Math.maxCh, d.height); X P if (type == AlphabetType.PROPOSITIONAL) { 9 S?T o =
int max = (int) Math.pow(2, props.size()); =D .
/ 201 7/08/1 3 for (int j = 0; j < max; j++) { String prop : props) {
for (Component c : entoy J for . Wi, f(n%2==0)
Dimension pref fint x = insets.left; $tr1ng SYTbOI = ’ symbol += " " + prop;
Dimension min =fint y = insets.top; int n = ?, 1se

-

c.setBounds(x,

if (orient == H|

I if (orient =4

| if (orient

LOMpuonents ) 1

d = c.getMinimumSizeQ); alphabet.add(symbol.trim()); - getPreferredsize():
w = Math.max(w, d.width); } - widthy: '
h = Math.max(h, d.height); } else if (type == AlphabetType.CLASSICAL) { . d.height);
} alphabet.addAl1l(props);
for (Component c : components) { } mzlisgzé)_
Dimension pref = c.getPrefer ’ d.hei htS'
Dimension min = c.getMinimum return alphabet; » d.hetghel;
int width = orient == HORIZO ! components) {
int height = orient == VERTI ef = c.getPreferredSize();
if (width < min.width) } I 1 min = c.getMinimumSize(Q);
e (:;?;:t=<m;?éw;:$2ét) ’ int width = orient == HORIZONTAL ? pref.width : w;
. L int height = orient == VERTICAL ? pref.height : h; }.
height = min.height; bturn alphabet; b g P g ;
. . . . ’ .V;
c.setBounds(x, y, width, height); if (xiji: < :;:'a$32:? ¥
if (orient == HORIZONTAL) i (221g:t f :1:'::;32:?
if (orient == HORIZONTAL) ’
| if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
) ¥ if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
return props; Prool  if (orient == HORIZONTAL)
move= T X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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How is a bug in ve

let t1 = Unix.gettimeofday() in
int w = 0; J
1:t : - 0; : protected Collection<String> genAlphabet(AlphabetType type,
201 7/08/05 for (Component ¢ : components) { 1 Collection<String> props) { conds™);
Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w = Math.max(w, d.width); — ATIIC TR
. D D
h = Math.maxCh, d.height); rgps) E P YP€ TYPEs M) phabetType. PROPOSITIONAL) {
d = c.getMinimumSizeQ); new ArraylList<String>(); _(1n;? Math-poy(%, props.size());
w = Math.max(w, d.width); )= ; % < max; i+ o
} h = Math.maxCh, d.height); X P if (type == AlphabetType.PROPOSITIONAL) { 9 S?T o =
int max = (int) Math.pow(2, props.size()); =J .
201 7/08/1 3 for (int j = 0; j < max; j++) { string prop : props) {
for (Component c : entsy { for . Wi, f(n%2==0)
Dimension pref fint x = insets.left; strlng SYTbOI = ’ symbol += " " + prop;
Dimension min =fint y = insets.top; int n = ?, 1se
L A

-

c.setBounds(x,

if (orient == H|

I if (orient =4

| if (orient

d = c.getMinimumSizeQ); ymbol.trim()); cL;:Z;::;;:;e;Size()'

w = Math.max(w, d.width); .d width); ’

h = Math.maxCh, d.height); habetType.CLASSICAL) { : d.heights;
¥ ops);
for (Component c : components) mzlisgzé)_

Dimension pref = c.getPrefe ’ d.hei htS'

Dimension min = c.getMinimu » G-NELGNE);

int width = orient == HORIZO I}

. . _ . s . components) {

int height = orient == VERTI } ef = c.getPreferredSize();

if (width < min.width) } I 1 min = c.getMinimumSize(Q);

i (:;f;:tim;?r"‘”;::g;t) 7 int width = orient == HORIZONTAL ? pref.width : w;

. L int height = orient == VERTICAL ? pref.height : h; }.
height = min.height; bturn alphabet; g P g >
. . . . ’ .v;
c.setBounds(x, y, width, height); if (xigz: : :lz'xkj::? hs
if (orient == HORIZONTAL) i (2213:: f :1:.::;3::?
if (orient == HORIZONTAL) ’
| if (orient == HORIZONTAL) c.setBounds(x, y, width, height);
) ¥ if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
t H - -
g ourn props Proo if (orient == HORIZONTAL)
mMoVe= T X.
} rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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in a version?

How is a bug in ve

let t1 = Unix.gettimeofday() in
int w = 0; )
1:t : - 0; 1 protected Collection<String> genAlphabet(AlphabetType type,
201 7/08/05 for (Component c : components) { 1 Collection<String> props) { conds");
Dimension d = c.getPreferredSize(); List<String> alphabet = new ArraylList<String>(Q);
w i Math.max(w, d.w1§th);. SenATPNaDEtCALPNabetTyPe type,
h = Math.maxCh, d.height); rops) { lphabetType.PROPOSITIONAL) {
d = c.getMinimumSizeQ); new ArraylList<String>(); _(1n;? Math-poy(%, props.size());
W = Math.max(w, d.width); )= ; % < max; i+ o
h = Math.maxCh, d.height); P if (type == AlphabetType.PROPOSITIONAL) { g symool =
201 7/08/1 3 ¥ ¥ int max = (int) Math.pow(2, props.size()); S;r‘gr"n rop : props) {
. _ for (int j = @; j < max; j++) { g prop : prop
or (Component c : ents) { for . Wi, f(n%2==0)
Dimension pref fint x = insets.left; $tr1ng SYTbOI = symbol += " " + prop;
Dimension min =fint y = insets.top; int n = ?, 1se
A

-

d = c.getMinimumSize(Q);
c.setBounds(x, w = Math.max(w, d.width);
h = Math.maxCh, d.height);

if (orient == Hf{}
I if (orient =4

| if (orient

for

(Component c : components)
Dimension pref = c.getPrefe
Dimension min = c.getMinimu

int width = orient == HORIZO
int height = orient == VERTI

I

Diff

LOMpuonents ) 1

ymbol.trim()); c.getPreferredSize();

, d.width);
habetType.CLASSICAL) { , d.height);
ops);

mSize();

, d.width);

, d.height);

. components) {

ef = c.getPreferredSize();
1 min = c.getMinimumSize(Q);

if (width < min.width) }
ﬂ width = min.width:

better than file system?

[ if Corient == HORIZONTAL)

}
}

return props;

i c.setBounds(x, y, width, height); |

if (orient == HORIZONTAL)
| if (orient == HORIZONTAL)
Proo if (orient == HORIZONTAL)
mMoVe= T X.
rewrite (acc_ssa_state_eq _ (egxx (get_index x m))).
reflexivity.
Ded.
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int w = 0;
int h = 0;

201 7/08/05 for (Component c : components) {
Dimension d = c.getPreferredSize();

Py

=5

protected Collection<String> genAlphabet(AlphabetType type,
Collection<String> props) {
List<String> alphabet = new ArraylList<String>(Q);

lphabetType.PROPOSITIONAL) {
(int) Math.pow(2, props.size());
j =0; j < max; j++) {

in a version?;

new ArraylList<String>Q);

w = Math.max(w, d.width);

h = Math.maxCh, d.height);
d = c.getMinimumSizeQ);

w = Math.max(w, d.width);

h = Math.maxCh, d.height);

2017/08/13} " }

for (Component c : for Stri bol wu,
D?mens?on pref ?nt X = @nsets.left; .trlng SXT ot = ’ symbol += " " + prop;
Dimension min =fint y = insets.top; int n = 7J;
c £C das A C lse

g symbol = "";

= J;

String prop : props) {
f(n%2==0)

let t1 = Unix.gettimeofday() in
if (type == AlphabetType.PROPOSITIONAL) {
int max = (int) Math.pow(2, props.size());
for (int j = @; j < max; j++) {

How is a bug in ve

£IIIIIIIIIIIZ:' d
c.setBounds(x,

if (orient == H§j}
I if (orient =
for (Component c : components)

| if (oriend Dimension pref = c.getPrefe

Dimension min = c.getMinimu

c.getMinimumSize(Q);
Math.max(w, d.width);
Math.maxCh, d.height);

> =

' “fixed in version B?

N
> N OTENtS) 1

ymbol.trim()); .getPreferredSize();
, d.width);

habetType.CLASSICAL) { , d.height);

ops);
mSize();
, d.width);

, d.height);

int width = orient == HORIZO
int height = orient == VERTI

. components) {

} ef = c.getPreferredSize();
if (width < min.width) } I 1 min = c.getMinimumSize(Q);
P . |I width = min.width: ) X
m B = m B suy m 9
I l |

Version Control

x m)).
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Version Control

e The developer needs a system that can
e store files in different versions with log messages,
e compare files between different versions, and

e restore files from specific versions.



Version Control

e The developer needs a system that can

e store files in differe = h log messages,
e compare files bety G It/ersions, and

e restore files from specific versions.




Remote
Repository

®

Repository

Local
Repository Checkout Me

Push




Create Repository




Create Repository

project $ git init
Initialized empty Git repository in /Users/mht208/project/.git/
project $ 1s
project $ ls -a
.git
project $ I

@
ab —

/ Repository




Create Repository

project $ git init

Initialized empty Git repository in /Users/mht208/project/.git/
project $ 1s
project $ ls -a

.git

project $ \

repository working area (working tree)

@ —_—
ab —

/ Repository




Create Repository

project $ git init

Initialized empty Git repository in /Users/mht208/project/.git/
project $ 1s
project $ ls -a

.git

project $ \

repository working area (working tree)

the default branch is “master”

@ —_—
ab —

/ Repository




File Checkin

project $ 1ls -a
. . git README . md
project $ I

** Convert a DSL state to an SSA state. %)

efinition ssa_state (m : vmap) (s : State.t) : bve4SSA.State.t
nv =

get_index (svar v) m
then State.acc (svar v) 5
else State.acc (svar V) State.empty.

EADME.md

emma ssa_state_equiv :
forall ms, state_equiv m s (ssa_state m s).

roof .

moves> m s x.

rewrite (acc_ssa_state_eq  (eqxx (get_index x m)).

ed.




File Checkin

project $ 1ls -a
git README .md

project $ git add README.md
project $ git commit]]

*+ Convert a DSL n SSA state. *)
efinition sso_staf P) (s : State.t) : bve4SSA.State.t i=
fun v >
if (sidx V) = (svar V) m
then State.acc (svar v) §
else State.acc (svar V) State.empty.
ate_equiv :
, state_equiv m s (ssa_state m ).

emma ssa_st

forall m s

yyyyy

moves> m s x.

rewrite (acc_ssa_state_eq  (eqxx (get_index x m)).
reflexivity.

ed.




File Checkin

[ NON 2. git

GNU nano 2.8.5 File: /Users/mht208/project/.git/COMMIT_EDITMSG Modified

Please enter the commit message for your changes. Lines starting

with "#' will be ignored, and an empty message aborts the commit. '11(1
On branch ¢

Initial commit

H O OHR H R R F R HEE

[ Read 10 1lines ]

We Get Help QO Write Out @ Where Is @AW Cut Text @8 Justify [@@ Cur Pos
W Exit N Read File AN Replace QW Uncut Text@l To Spell @M Go To Line

README.md

e_equiv n s (ssa_state m $).
-_eq _ (eaxx (get_index x m)).
refl y
ed.




File Checkin

| NON | 2. git
project $ git add README.md
project $ git commit
[master (root-commit) d@5fe5d] Add README.md.
1 file changed, 1 insertion(+)
create mode 100644 README.md

project $ I

[ Read 10 1lines ]
A€ Get Help @AW Write Out QU Where Is @ Cut Text [ Justify @@ Cur Pos
W Exit N Read File AN Replace QW Uncut Text@l To Spell @M Go To Line
README.md

ema ssa_state.

forall m s, s

yyyyy

moves> m s x.

rewrite (acc_ssa_state_eq  (eqxx (get_index x m)).
reflexivity.

ed.




File Checkin

| NON | 2. git
project $ git add README.md
project $ git commit
[master (root-commit) d@5fe5d] Add README.md.
1 file changed, 1 insertion(+)
create mode 100644 README.md

project $ I

[ Read 10 1lines ]
A€ Get Help @AW Write Out QU Where Is @ Cut Text [ Justify @@ Cur Pos
W Exit N Read File AN Replace QW Uncut Text@l To Spell @M Go To Line
README.md

ema ssa_state.

forall m s, s

yyyyy

moves> m s x.

rewrite (acc_ssa_state_eq  (eqxx (get_index x m)).
reflexivity.

ed.




Add VS Commit

e git add
e Add files to a staging area
e git commit

e Add files in the staging area to the repository as a new version

add g Staging Area commit __
(Git Index)




Add VS Commit

e git add
e Add files to a staging area
e git commit

e Add files in the staging area to the repository as a new version

add g Staging Area commit __
(Git Index)

If README.md is modified after “git add README.md”,
will the modified version committed after “git commit™?

9



Add VS Commit

e git add
e Add files to a staging area
e git commit

e Add files in the staging area to the repository as a new version

add g Staging Area commit __
(Git Index)

If README.md is modified after “git add README.md”,
will the modified version committed after “git commit™?

NO




History

this is the ID of the version

project $ git log ‘///

Author: Ming-Hsien Tsai <mhtsaiZ208@gmail.com>
Date: Tue Sep 12 14:07:39 2017 +0800

Add README.md.
project $ I

10



History

® O 4. git

Author: Ming-Hsien Tsai <mhtsai2@8@gmail.com>
Date:  Tue Jun 27 16:58:41 2017 +0800

Add bvSubC, bvSbb, and bvSbbC. . _
IS is the ID of the version

Author: Bow-Yaw <bowyaw@bitbucket.org>
Date:  Thu Jun 22 13:31:10 2017 +0800

. C.
add succ_instr and succ_program "

208@gmail.com>
Author: Bow-Yaw <bowyaw@bitbucket.org>
Date:  Fri Jun 16 08:57:55 2017 +0800 7 +0800

a script to identify addition chains
Author: Ming-Hsien Tsai <mhtsai208@gmail.com>
Date:  Tue Jun 13 11:54:35 2017 +0800
Fix a bug where ule in Cog becomes ult in OCaml.
Author: Bow-Yaw <bowyaw@bitbucket.org>
Date:  Tue Jun 13 11:10:07 2017 +0800
return exit code from verification

Merge: c1009c5 372c¢29a
Author: Bow-Yaw Wang <bywang@iis.sinica.edu.tw>

| 10




® O 4. git

History

4, less

Author: Ming-Hsien Tsai <mhtsai208@gmail.com>
Date:  Tue Jun 27 16:58:41 2017 +0800

Add bvSubC, bvSbb, and bvSbbC.

Author: Bow-Yaw <bowyaw@bitbucket.org>
Date:  Thu Jun 22 13:31:10 2017 +0800

add succ_instr and succ_program

Author: Bow-Yaw <bowyaw@bitbucket.org>
Date: Fri Jun 16 08:57:55 2017 +0800

a script to identify addition chains

Author: Ming-Hsien Tsai <mhtsai208@gmail.com>
Date:  Tue Jun 13 11:54:35 2017 +0800

Fix a bug where ule in Coq becomes ult in 0Caml.

Author: Bow-Yaw <bowyaw@bitbucket.org>
Date:  Tue Jun 13 11:10:07 2017 +0800

return exit code from verification

Merge: c1009c5 372c¢29a
Author: Bow-Yaw Wang <bywang@iis.sinica.edu.tw>

Add value type as an argument of store functors.

Move conversion betwen VS and SSAVS to DSL2SSACommons.
Add bvDSLRel.

origin/nondet) Simplify some proofs.
Improve dp_mem and dp_subset.
Add SsrFSet to avoid redundant declarations of variable sets.
Remove useless code in bvDSL. Simplify some proofs in bvDSL.
Add Equal to Store.

Merge branch 'master' into nondet

—_— = ¥ ¥ %X X X X X X X

* Add a buggy implementation of fe25519_mul with radix 2A64 representa
tion.

| * Add simple decision procedures for mem and subset.

| * Add bvSubC, bvSbb, and bvSbbC.

* add succ_instr and succ_program

origin/ccsl/) a script to identify addition chains
Fix a bug where ule in Coq becomes ult in OCaml.
return exit code from verification
Merge branch 'master' of fml.iis.sinica.edu.tw:/home/git/certified_q

* ¥ ¥ ¥

hasm_vcg
I\

Remove unused admitted lemmas in bvSSAZ2QFBV.
Proved admitted lemmas in bvSSA2zSSA.

Add more lemmas.

refer to modified gbarith

— % % *

N

add to_bvdsl.py and rename to_dsl.py
allow configurations in comments

Fix a typo.

Fix a problem in rewrite_zpower_nat.
Update specifications.

Use Z for equality assertions.

Fix a bug in rewrite_assignZ_with.

* Ok X X X ¥ ¥ — ¥ — —

||
Y
o




File Difference

project $ git diff
diff --git a/README.md b/README.md
index 52cbb6cd. .eb99597 100644
--- a/README . md
+++ b/README .md

@ -1 +1,3 @@

This 1s readme.
project $ I

11



File Restore (Checkout)

project $ cat README.md

This 1s readme.
project $ git checkout README.md
project $ cat README.md

This 1s readme.

project $ I

o ‘ g

12



File Restore (Checkout)

project $ cat README.md

This 1s readme.
project $ git checkout README.md
project $ cat README.md

This 1s readme.

project $ I

** Convert a DSL state to an SSA state. *)
efinition ssa_state (m : vmap) (s : State.t) : bv64SSA.State.t :=
e
e Ghtx ¥ = g tdex ovar v3
then State.acc (svar v) s
else State.acc (svar v) State.empty.
ra ssastote-eauty
e e Sy w3 (ssa_state w 3.
o
rewrite (acc_ssa_state_eq _ (eqxx (get_index x m))).
e
5

12



File Restore (Reset)

protected (ol ing> genhtomicPropositions(ApnabetType e, = Comert a DSL state o an S5A state. )
it size) {

List<String> props = new Arraylist<String();

protected CollectioncString> genhtonicPropositions(AlphabetType type
int size) {
ListString> props = new ArrayListcString();

efinition ssa_state (m : vmap) (s : State.t) : bvG4SSA.State.t 1=
nv =

if (sidx v) = get_index (svar V) m

then State.acc (svar v) §

else State.acc (svar V) State.empty.

if (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md”

props.add(syn);

if (type = AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md’

\4

README.m

rops.add(sy); \
erma ssa_state_equiv ©
Forall m 5, State_equiv n s (ssa_state m 5).
roof.
noves> m s x
rewrite (acc_ssa_state_eq _ (eqxx (get_index x m)).
reflexivity

ed.

} }

return props; return props;

13



File Restore (Reset)

git checkout README.md

protected ol ing> genhtonicPr
int size) {

AlphabetType type,
List<String> props = new Arraylist<String();

if (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md”

props.add(syn);

protected Collection<String> genktomicProposi tions(AlphabetType type,
int size)

ListString> props = new ArrayListcString();

1f (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

a
}

README.md’

rops.add(sye);

++ Convert a DSL state to an SSA state. *)
efi

nition ssa_state (m : vnap) (s : State.t) : bvASSA.State.t :=
nv =
if (sidx v) = get_index (svar V) m
then State.acc (svar v) §

else State.acc (svar V) State.empty.
return props;

v
}

return props;

README.md

\ erma ssa

roof.

moves> m s x.
rewrite (ac
reflexivit:

c_ssa_state_eq _ (eqxx (get_index x m)).
ty.
ed.

_state_equiv

m s, state_equiv m s (ssa_state m 5).




File Restore (Reset)

git checkout README.md

protected (ol ectiondString> genktoricPropasitions(AlphabetType type,
int size) {

ListString> props = new ArrayList<String();

AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md’

rops.add(sye);

protected Collection<String> genktomicProposi tions(AlphabetType type,
int size)

ListString> props = new ArrayListcString();

1f (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

a
}

README.md’

rops.add(sye);

++ Convert a DSL state to an SSA state. *)
efi

return props;

nition ssa_state (m : vnap) (s : State.t) : bvASSA.State.t :=
nv =

if (sidx v) = get_index (svar V) m

then State.acc (svar v) §

else State.acc (svar V) State.empty.

v
}

return props;

README.md

\ erma ssa

roof.

moves> m s x.
rewrite (ac
reflexivit:

c_ssa_state_eq _ (eqxx (get_index x m)).
ty.
ed.

_state_equiv

m s, state_equiv m s (ssa_state m 5).




File Restore (Reset)

protected (ol ing> genhtomicPropositions(ApnabetType e, = Comert a DSL state o an S5A state. )
it size) {

List<String> props = new Arraylist<String();

protected CollectioncString> genhtonicPropositions(AlphabetType type
int size) {
ListString> props = new ArrayListcString();

efinition ssa_state (m : vmap) (s : State.t) : bvG4SSA.State.t 1=
nv =

if (sidx v) = get_index (svar V) m

then State.acc (svar v) §

else State.acc (svar V) State.empty.

if (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md”

props.add(syn);

if (type = AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md’

\4

README.m

rops.add(sy); \
erma ssa_state_equiv ©
Forall m 5, State_equiv n s (ssa_state m 5).
roof.
noves> m s x
rewrite (acc_ssa_state_eq _ (eqxx (get_index x m)).
reflexivity

ed.

} }

return props; return props;

13



File Restore (Reset)

git reset README.md

protected ol ing> genhtonicPr
int size) {

AlphabetType type,
List<String> props = new Arraylist<String();

if (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

README.md”

props.add(syn);

protected Collection<String> genktomicProposi tions(AlphabetType type,
int size)

ListString> props = new ArrayListcString();

1f (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

a
}

README.md’

rops.add(sye);

++ Convert a DSL state to an SSA state. *)
efi

nition ssa_state (m : vnap) (s : State.t) : bvASSA.State.t :=
nv =
if (sidx v) = get_index (svar V) m
then State.acc (svar v) §

else State.acc (svar V) State.empty.
return props;

v
}

return props;

README.md

\ erma ssa

roof.

moves> m s x.
rewrite (ac
reflexivit:

c_ssa_state_eq _ (eqxx (get_index x m)).
ty.
ed.

_state_equiv

m s, state_equiv m s (ssa_state m 5).




File Restore (Reset)

git reset README.md

protected ol
int size) {

List<String> props = new Arraylist<String();

ing> genltonicPre

type,

if (type == AlphabetType. PROPOSITIONAL) {
int base = 15;

EADME rrd” Staging Area

efinition ssa_state (m : vmap) (s : State.t) : bvb4SSA.State.t :=
fun v -
i (sidx v) = get_index (svar V) m
State.acc (svar V]
props.add(syn);
}

else State.acc (svar V) State.empty.

README.md

\ ema ssa_state_equiv

forall m s, state_equiv m s (ssa_state m s).
roof .
move>

return props;

(Git Index)

rewrite (acc_ssa_state_eq _ (eqxx (get_index x m)).
reflexivity.
ed.




File Restore (Reset)

git reset README.md
git checkout README.md

protected ol ing> genhtonicPr
int size

type,
List<String> props = new Arraylist<String();

if (type == AlphabetType. ROPOSITIONL) {
int base = 15;

README.md”

props.add(syn);

}

efinition ssa_state (m : vmap) (s :
fun v =

Staging Area

State.t) : bBASSA.State.t
if (sidx v) = get_index (svar V) m
then State.acc (svar V;
return props;

else State.acc (svar V) State.empty.

: README.md
(Git Index)

)

ema ssa_state_equiv
forall m s, state_equiv m s (ssa_state m s).
roof .

move>

s x
rewrite (acc_ssa_state_eq _ (eqxx (get_index x m)).
reflexivity.
ed.




File Restore (Reset)

git reset README.md
git checkout README.md

+* Convert a DSL state to an SSA state
efini

*
tion ssa_state (m : vmap) (s : State.t) : bvbASSA.State.t
v
if (sidx v) == get_index (svar v) m
then State.acc (svar V.

s
else State.acc (svar V) State.empty.

EADME.m

erma ssa_state_equiv

roof .

forall m s, state_equiv m s (ssa_state m s).
moves> m s

rewrite (a
reflexivit,
ed.

x.
cc_ssa_state_eq _ (equx (get_index x m))

Staging Area

: vmap) (s @
if (sidx )
then State.acc (svar

w's

State.t) : bve4SSA.State. t :
get_index (svar v) m
else State.acc (svar V) State.empty.

++ Convert a DSL state to an SSA state. *)
efinition ssa_state (m
fun v =

)

ema ssa_state_equiv ©
forall m s, state_equiv m s (ssa_state m s).
roof .
move> .
rewrite (ac
reflexivit

ed.

c_ssa_state_eq _ (eqxx (get_index x m)).




File Status

unmodified modified

stage
ﬁ

remove

G

commit

14



File Status

projectl $ git status
On branch master
Your branch is ahead of 'origin/master' by 3 commits.
(use "git push” to publish your local commits)
Changes to be committed:
(use "git reset HEAD <file>..." to unstage)

modified: B.C

Changes not staged for commit:
(use "git add <file>..." to update what will be committed)
(use "git checkout -- <file>..." to discard changes in working directory)

modified: A.cC
modified: README . md

Untracked files:
(use "git add <file>...

to include 1n what will be committed)

D.java
14



Data Model

laf6e p arent

t : parent 7ab3b
commi <

commit 3

commit 2 §

{ tree J { tree J

\_ VAN J/ /L J/ /L J

Data compressed by ZLIB SHA1 hash of data as file name

15



Data Model

laf6e . parent
commit1 ¥

p are nt 7ab3b

commit 3

commit 2 §

[ ] [ ] [ ]

A comrﬁit IS a pointe;n(with additioriglﬂ data)

N\

4 N\ [ N\ N\ N\ N\ )

blob blob blob blob blob blob

\_ VAN J/ /L J/ /L J

Data compressed by ZLIB SHA1 hash of data as file name

15




Version Pointers

e Commits

¢ Branches

e Jags

e HEAD



Local Version Control

e SCCS (Source Code Control System, 1972)

e RCS (Revision Control System, 1982)

17



Multiple Developers




Centralized Version Control

e CVS (Concurrent Versions System, 1990)
e SVN (Subversion, 2000)
e ClearCase

e Visual SourceSafe

19



Problems




Problems

commit

m
m,
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Problems




Problems




Problems




Problems




Distributed Approach




Distributed Approach

demo $ 1s Supported protocols: ssh, git, http, and https

demo $ git clone https://github.com/atom/atom.git
Cloning into "atom'...
remote: Counting objects: 179291, done.
remote: Compressing objects: 100% (16/16), done.
remote: Total 179291 (delta 13), reused 13 (delta 10), pack-reused 179265
Recelving objects: 100% (179291/179291), 285.63 MiB | 4.65 MiB/s, done.
Resolving deltas: 100% (127760/127760), done.
demo $ 1s
atom

demo $ I

-

21






Synchronization




Synchronization




Fetch and Push




Fetch and Push




Fetch and Push

server name branch name

=/

projectZ $ git push origin master
Counting objects: 3, done.
Writing objects: 100% (3/3), 288 bytes | @ bytes/s, done.
Total 3 (delta @), reused @ (delta 0)
To /Users/mht208/demo/server
3691b0@d. .57d4fbe master -> master

projectZ $ I

push
fetch










Merge

projectl $ git fetch
remote: Counting objects: 3, done.
remote: Total 3 (delta @), reused @ (delta 0)
Unpacking objects: 100% (3/3), done.
From /Users/mht208/demo/server
3091b@d. .57d4fbe master -> origin/master
projectl $ git merge
Auto-merging README .md
CONFLICT (content): Merge conflict in README.md
Automatic merge failed; fix conflicts and then commit the result.

projectl $ I

merge

24



Merge

projectl $ git fetch
remote: Counting objects: 3, done.
remote: Total 3 (delta 0), reused @ (delta @)

Unpacking objects: 100% (3/3), done.
From /lUsers/mht208/demo/server

¥git pull = git fetch + git merge

'.Il \IJ\'\-\.-L -~ yL\- TTING | U\'

Auto-merging README .md
CONFLICT (content): Merge conflict in README.md
Automatic merge failed; fix conflicts and then commit the result.

projectl $ I

merge

24



Merge
Working Area

v
088

Repository

08 6



Merge
Working Area

}
088

v
‘8-

Repository

08 6



Merge
Working Area

!

&
N" @/

CO ppuu C1 ppuu C2

Repository

CO ppu C1 pyuu C2
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Merge
Working Area

@
v
06 _ _/
‘88

Repository

08 6



Rebase
Working Area

v
088

Repository

08 6



Rebase
Working Area

v
088

‘8-

Repository

08 6



Rebase
Working Area

}
088

v
‘8@

Repository

08 6



Rebase

Working Area
Fast Forward
O C1 g & 1
N C3 pmm C5 <—
Repository

008



Merge VS Rebase

o
erge \.\X::

Rebase 58 8868888




Resolve Conflicts

projectl $ git fetch
remote: Counting objects: 3, done.
remote: Total 3 (delta @), reused @ (delta 0)
Unpacking objects: 100% (3/3), done.
From /Users/mht208/demo/server
3691b0@d. .57d4foe master -> origin/master
projectl $ git merge
Auto-merging README .md
CONFLICT (content): Merge conflict in README.md
Automatic merge failed; fix conflicts and then commit the result.

projectl $ I

28



Resolve Conflicts

1.Edit files with conflicts B<<<<<< HEAD
===== About Project A =====

>>>>>>> refs/remotes/origin/master

This 1s readme.

28



Resolve Conflicts

1.Edit files with conflicts B<<<<<< HEAD
2_git add ===== About Project A =====
===== About Me =====

>>>>>>> refs/remotes/origin/master

This 1s readme.

28



Resolve Conflicts

1. Edit files with co

2.9it add
3.git commit

2. git

File: /Users/mht208/demo/projectl/.git/COMMIT_EDITMSG

M

# Conflicts:

# README .md

#

# It looks like you may be committing a merge.

# If this 1s not correct, please remove the file
# .g1t/MERGE_HEAD

# and try again.

Please enter the commit message for your changes. Lines starting
with "#' will be ignored, and an empty message aborts the commit.
On branch
Your branch and ' ' have diverged,
and have 1 and 1 different commits each, respectively.

(use "git pull"” to merge the remote branch into yours)

ALl conflicts fixed but you are still merging.

HOH R R OH OHE O R R

[ Read 20 lines ]

A¢ Get Help @8 Write Out @ Where Is @AW Cut Text @8 Justify @@ Cur Pos
A Exit N Read File @\ Replace @AW Uncut Text@] To Spell @JM Go To Line

28



Resolve Conflicts

2. git
File: /Users/mht208/demo/projectl/.git/COMMIT_EDITMSG

1. Edit files with congiigk:
2.Q9it add y
3.git commit

# Conflicts:
# README .md

projectl $ git add README.md
projectl $ git commit

[master 3e5947f] Merge remote-tracking branch 'refs/remotes/origin/master’
projectl $ I

with "#' will be ignored, and an empty message aborts the commit.
On branch
Your branch and ' ' have diverged,
and have 1 and 1 different commits each, respectively.
(use "git pull"” to merge the remote branch into yours)

ALl conflicts fixed but you are still merging.

HOH R K OH R R R

[ Read 20 lines ]
A¢ Get Help @8 Write Out @ Where Is @AW Cut Text @8 Justify @@ Cur Pos
A Exit N Read File @\ Replace @AW Uncut Text@] To Spell @JM Go To Line

28



Resolve Conflicts

1. Edit files with confligf: ~ o

File: /Users/mht208/demo/projectl/.git/COMMIT_EDITMSG
2.9it add y

3.git commit

# Conflicts:
# README .md

projectl $ git add README.md
projectl $ git commit

[master 3e5947f] Merge remote-tracking branch
projectl $ I

# with '"#' will be 1ignored, and an empty message aborts the commit.

refs/remotes/origin/master’

# On branch
* Merge remote-tracking branch 'refs/remotes/origin/m
aster’
I\
| * | Modify README.md.
* Modify README.md.
|/
* Add README.md.

28



Summary

remote

working local

staging area

directory repository

repository
clone

checkout | <«u—

commit

> pull

fetch

merge

push

29



Distributed Version Control

e BitKeeper
e Git (2005)

e Mercurial (2005)



Branching

master origin/master

commit 2 commit 2

commit a commit a

commit 1

31



Branching

BranchA

l

. master origin/master
unfinished l
‘ N commit 2

}

commit 2

commit a commit a

. - 31

i



BranchA

l

Branching

BranchA

l

master N
l unfinished

origin/master

commit 2

4 commit 2 ‘

}

commit a

- 31

i

commit a

commit 1

|
—
—
commit 1
,
-




Branching

BranchA BranchA

- master - origin/master
| 1

git branch BrahcnA: create a branch named BranchA

—

git push origin BranchA: push BranchA to server

git checkout BranchA: switch to BranchA

|
(it

@ —_
& —




Git Flow

release

30 http:/ /nvie.com/posts/a-successful-git-branching-model /



http://nvie.com/posts/a-successful-git-branching-model/

Merge

Deploy

T O
Cc O
© O
SC
w =
3 .0
@2 >
el

Pull
request

Add commits

https:/ / guides.github.com /introduction/ flow /
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Stash




Stash

O add feature A

A'A




Stash

O add feature A

A'A

Stack

w




Stash

O add feature A

| Stack




Stash

fix a bug, right

now!

Stack




Stash

fix a bug, right
now!

Stack

_
H
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Stash

fix a bug, right
now!

bug fix

Stack

commit 2

r,

|
*ﬂ
i

commit 1

|

4l g




Stash

fix a bug, right

now!

bug fix

Stack

_

|
1 .
‘
[
\‘
|
|
|
(M
’{
\

commit 2

commit 1
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Stash

fix a bug, right

now!

feature A’

bug fix

Stack

commit 2

commit 1

o
o
e
=
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Stash

fix a bug, right
now!

feature A’

o Stack bug o

*’ B unfinished’

| ‘
|
!
|
|
|
U
|
l
I
il
|
—

commit 2

commit 1

il 38ce




Squash

squash $ git glog
Improve performance.

Fix a bug in function B.
Add test cases for functions A and B.
F1x a bug in function A.
Add function B.
Add function A.
Add main.c.

squash $ I

* X X X X ¥ *

glog is an alias of “log --graph --decorate --pretty=oneline --abbrev-commit”

35



* X X X X ¥ *

Squash

squash $ git glog
Improve performance.
Fix a bug in function B.
Add test cases for functions A and B.
F1x a bug in function A.
Add function B.
Add function A.
Add main.c.
squash $ I

squash $ git rebase -i HEAD~6

HEAD: the versionsé)f the working tree



Squash

File: /Users/mht208/demo/squash/.git/rebase-merge/git-rebase-todo

fick d7bce@4 Add function A.

pick 697a699 Add function B.

pick 4960ef6 Fix a bug in function A.

pick beb689cl Add test cases for functions A and B.
pick e5abbde Fix a bug in function B.

pick 5718716 Improve performance.

# Rebase aaa944b..5718716 onto aaa944b (6 commands)

Commands:

p, pick = use commit

r, reword = use commit, but edit the commit message

, edit = use commit, but stop for amending

squash = use commit, but meld into previous commit

fixup = like "squash"”, but discard this commit's log message
exec = run command (the rest of the line) using shell

drop = remove commit

)

)

Q X - 1 @

o

These lines can be re-ordered; they are executed from top to bottom.

B H O HH AFTH FTHAFHK

35



Squash

File: /Users/mht208/demo/squash/.git/rebase-merge/git-rebase-todo Modified

pick d7bce@®4 Add function A.

squash 697a699 Add function B.

squash 4960ef6 Fix a bug in function A.

squash be689cl Add test cases for functions A and B.
squash e5abbde Fix a bug in function B.

squash 5718716 Improve performance.

1

# Rebase aaa944b..5718716 onto aaa944b (6 commands)

#

# Commands:

# p, pick = use commit

# r, reword = use commit, but edit the commit message

# e, edit = use commit, but stop for amending

# s, squash = use commit, but meld into previous commit

# f, fixup = like "squash", but discard this commit's log message
# x, exec = run command (the rest of the line) using shell

# d, drop = remove commit

#

# These lines can be re-ordered; they are executed from top to bottom.
#

35



Squash

GNU nano 2.8.5 File: /Users/mht208/demo/squash/.git/COMMIT_EDITMSG

This 1s a combination of 6 commits.
This 1s the 1st commit message:

* EXX

# This 1s the commit message #2:

# This 1s the commit message #3:

# This 1s the commit message #4:

# This 1s the commit message #5:

35



Squash

GNU nano 2.8.5 File: /Users/mht208/demo/squash/.git/COMMIT_EDITMSG Modified

Please enter the commit message for your changes. Lines starting
with '"#' will be ignored, and an empty message aborts the commit.

Date: Wed Sep 13 09:36:38 2017 +0800

interactive rebase in progress; onto aaa944b
Last commands done (6 commands done):
squash e5abbde Fix a bug in function B.
squash 5718716 Improve performance.
No commands remaining.

H OH HEHHEH HE H KR
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Squash

squash $ git rebase -i HEAD~G
[detached HEAD 4baf53e] Add feature A.
Date: Wed Sep 13 09:36:38 2017 +0800

1 file changed, 12 insertions(+)
Successfully rebased and updated refs/heads/master.
squash $ git glog
* Add feature A.

* Add main.c.
squash $ I
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.gitignore

projectl $ git status
On branch master
Your branch is ahead of 'origin/master' by 2 commits.
(use "git push" to publish your local commits)
Untracked files:
(use "git add <file>...

' ]

to 1nclude 1n what will be committed)

O N O 0O

.class
.java

M 0 0 > >

nothing added to commit but untracked files present (use "git add" to track)
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.gitignore

projectl $ cat .gitignore
*.0
*.class
projectl $ git status
On branch master
Your branch 1s ahead of 'origin/master' by 2 commits.
(use "git push" to publish your local commits)
Untracked files:
(use "git add <file>..." to include in what will be committed)

.gltignore
A.C

B.C
C.java

nothing added to commit but untracked files present (use "git add" to track)
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GUI Clients

&7

Stash Blame Investigate Git-Flow Merge Rebase .
= Commit
Commit 47¢239¢c6

by Shane Lontis, 03/03/2020 12:02 PM
parent 97ace6c2

@ [ ) openssl - [~/Work/Sources/openssl] - SmartGit 19.1.7 (for non-commercial use only)
B 2 & 41 | lo S
Pully Sync, Push, Commit Stage Index Editor Unstage Discard Save Stash , Apply
Repositories = Graph Q (wi
;;M Working Tree (3 changes)
hoaf Add pairwise cons... SL 12:02 PM
jasmin .travis.yml: Remove NOUPDATE su... RL Thursday 09:07 AM
leon Remove apps/progs.c and apps/pr... Wednesday 09:52 PM

Configure: Diverse cleanups
Build: Generate apps/progs.c and ...
build.info: Implement simply subst...
build.info: Make it possible to hav...
PROV: Add a OP_keymgmt_match(...
EVP: Add support for copying pro...
KEYMGMT: Add a keydata copy fu...
EVP: Add support for comparing p...
KEYMGMT: Add a keydata matchi...
EVP: Adapt EVP_PKEY_missing_pa...
crypto/perlasm/x86_64-xlate.pl: d...
Local Branches (1 Fix drop of const qualifier

» master = orig DOCS: Add and maodifv docs forin...
> [l origin (20) - https: changes of build.info (Modified)
> [ | Tags (306) =

Recyclable Comm .,

62 Core

ocaml-makefile
¥ — openssl (master)
boringssl
krb5
pyca-cryptogri
queue-example
SageMath
universalJavaApp

Branches

v/ HEAD (47¢239c6)
v

Wednesday 09:42 PM
Wednesday 09:39 PM
Wednesday 09:35 PM
Wednesday 09:30 PM
02/06/2020 04:53 PM
02/05/2020 11:30 PM
02/05/2020 10:41 PM
02/05/2020 07:55 PM
02/05/2020 07:53 PM
02/05/2020 05:18 PM
Thursday 01:03 PM
Sunday 06:40 AM
Tuesdav 02:15 AM

AK
Rl

63 COMMON=provider_core.c provider_predefined.c \

core_fetch.c core_algorithm.c core_namemap.c

=

66 [../libcrypto]=$CORE_COMMON provider_conf.c self_
67 [../providers/libfips.a]=$CORE_COMMON

Ready

SmartGit

T"']’:ﬁ dUDVMIUDUULED

ey
boringssl
krb5

pyca-cryptog...

Add pairwise consistency self tests to asym keygenera

Filess = Q ‘ | |CoL
Name ~ |Modificatic| Relative Directory
& build.info Modified crypto
3 build.info Modified providers/fips
4 dh_gen.c Modified crypto/dh
& dsa_key.c Modified crypto/dsa
& ec.h Modified include/crypto
ld ec_key.c Modified crypto/ec
1 ecp_s390x_nistp.c Modified crypto/ec

i~ 4e

2/3: Mark repositories as 'favorite' for automatic backgrou
refresh.

Git repositories marked as 'favorites' will be refreshed and fetched
automatically in the background.

To mark a repository as 'favorite', right-click on it in the 'Repositories' vit
select 'Mark as Favorite'.

Remind me later | Don't show again
»

Reviewed-by: Richard Levitte <levitte@openssl.org>
(Merged from https://github.com/openssl/openssl/pull/10952)

65:1

Commit: 47¢239c6b8d6e5d66a6ceef3a2c543b6ea338759 [47
97ace6c2da
Shane Lontis <shane.lontis@oracle.com>

March 3, 2020 at 12:02:36 PM GMT+8

Parents:
Author:
Date:

bnsisten...

3] E & &

View Remote Show in Finder Terminal Settings
Jump to: 8
Author

Commit Date

* *

Today at 4:35...

47c239c... Shane Lontis <s... Today at 12:02...

97ace6ce... Richard Levitte <... Yesterday at 10:...

fe909ee... Richard Levitte <... Yesterday at 10:...
19cf440... Richard Levitte <... Yesterday at 10:...
a3f1fc25... Richard Levitte <... Yesterday at 10:... Hide Whitespace

Q

crypto/build.info

61,9 @@ ENDIF
Reverse hunk

e
# The Core

$CORE_COMMON=provider_core.c provider_predefined.c \

core_fetch.c core_algorithm.c core_namemap.c
core_fetch.c core_algorithm.c core_namemap.c sewore_\‘etch.c core_algorithm.c core_namemap.c self_test_cor

MON=provider_core.c provider_predefined.c \

ore_fetch.c core_algorithm.c core_namemap.c

SOURCE[../libcrypto]=$CORE_COMMON provider_conf.c self_1
SOURCE[../libcrypto]=$CORE_COMMON provider_conf.c
SOURCE[../providers/libfips.al=$CORE_COMMON

/libcrypto]=$CORE_COMMON provider_conf.c self_test_core.c
/libcrypto]=$CORE_COMMON provider_conf.c
/providers/libfips.al=$CORE_COMMON

# Central utilities

utilities

SourceTree

j‘ fo Richard Levitte committed 6 days ago

PROV: Add a OP_keymgmt_match() fun...
£ Richard Levitte committed Feb 6, 2020

EVP: Add support for copying provided...
B Richard Levitte committed Feb 5, 2020

KEYMGMT: Add a keydata copy function
P‘ Richard Levitte committed Feb 5, 2020

EVP: Add support for comparing provi...

doc/man7/OSSL_PROVIDER-FIPS.pod [e]
include/crypto/ec.h [e]
include/openssl/self_test.h
include/openssl/types.h
providers/fips/build.info

providers/fips/fipsprov.c

providers/fips/self_test.c

GitHub Desktop
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e http://git-scm.com/book

e http://git-scm.com/docs
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